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54 e 7 435 18767 10514 0.88* .00.0 4 g 7 266 23319  141.04*  0.86* .00.0 st Ao ] 169 14357 7612 093 000
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54 e 7 182 20082 12231 101 .00.0 4 g 7 122 27732 17777 107 000 st Ao ] 60 14036 7213 092 000
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Aussigaprm | 26 29.97 1862 081 143 B A 8 18.19 1260 061 66 gusrtagarn | 12 28.07 1561 084 200
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54 e 7 177 19599 11824 099  .00.0 4 g 7 105 22855 14997 092  .00.0 st Ao ] 72 16227 8826 112 000
g 146 161.66 96.60 104 825 L 93 20243 13269 092 886 T g 61  137.48 7458 120 847
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2 e p e 26 28.79 1784 093 147 |2|is  tgagemn | 17 37.00 2291*- 070 162 |2|es . zgqurs | 11 24.79 1264 107 153
3lan  syioemg | 26 28.79 1685 119 147 |3]- s 16 34.83 2290 100 152 |3|cpsim 9 20.28 1049 106 125
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7|5 % 10 11.07 791 117 56 |7|reszamen 5 10.88 607 138 48 |7|rrizamen 4 9.02 495 209 56
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“h e F 83 248.85 138.39 1.11  .00.0 74 e~ F 53 315.95 190.13 112 .00.0 h R 7 30 180.96 92.83 111 .00.0
LA B 7 70 209.88 119.46 1.19 84.3 LA g F) 50 298.06 181.60 1.28 94.3 LA e A F) 24 144.77 78.49 1.14 80.0
e 25787 % 21 62.96 32.36 1.36 25.3 42§58 % 19 113.26 64.85*+ 1.85* 35.8 1|5 « 2 5o g 5 30.16 20.18 1.15 16.7
2 |rresFp o g R 14 41.98 25.85 1.19 16.9 2 PH{esFp o R 11 65.57 4552 1.33 20.8 A ER RS 5 30.16 18.62 151 16.7
Kl EXEELES 5 30.16 18.62 151 6.0 K 8 47.69 29.34 1.28 15.1 3 s L E 3 18.10 6.03 0.88 10.0
4] c 10 29.98 17.10 151 12.0 415w 4 23.85 15.10 1.28 7.5 4t &= B 2 12.06 7.05 2.46 6.7
5|e% - 25 ior R 6 17.99 11.25 0.65 7.2 5]% 2135 GO Ry 3 17.88 9.66 1.12 5.7 5]|c s 2 12.06 6.48 7.08 6.7
6 | PSR O 3 17.88 9.66 1.12 3.6 6 |5 5% 1 5.96 3.88 1.06 1.9 6 |5 % 2 12.06 6.29 1.30 6.7
HEER: 4 11.99 7.47 1.23 48 7 |'&% 1 5.96 3.76 4.32 1.9 IR REE R Rl 2 12.06 3.54*  0.39 6.7
8larma &= m 3 8.99 5.30 1.27 3.6 8lrrma & m 1 5.96 3.39 0.64 1.9 8 v & 1 6.03 3.72 1.94 3.3
9 |5 %% 2 6.00 321 0.62 24 9 |8 FV& 1 5.96 3.23 131 1.9 9 |*s% 1 6.03 3.53 2.72 3.3
100 # *F& 2 6.00 3.11 1.93 24 |10} &% ~ BB oL R 1 5.96 2.88*- 0.21 1.9 |10} % 1 6.03 3.05 0.75 3.3
Y T | 13 38.98 18.93 0.82 15.7 Hog 2Ll X g 5 F) 3 17.88 8.54*-  0.35 5.7 H 2L X R F) 6 36.19 14.34 1.00 20.0
11)re% 1 3.00 1.87 4.29 1.2 |11} 5% 1 5.96 2.60 7.97 1.9 |11} 4 Fv% 1 6.03 2.99 3.73 3.3
12)% % P 1 3.00 1.87 0.60 1.2 12| 5 %% 1 5.96 2.60 4.37 1.9 12 B ok e 5ok 1 6.03 2.99 2.94 3.3
13) 7% 1 3.00 1.85 0.98 1.2 13) % rbd & 0 % & 1 6.03 1.52 41.29 3.3
1453 % 1 3.00 1.85 0.68 1.2 142 g 4ot 8 224 Ay 1 6.03 1.52 3.19 33
15]% % 1 3.00 1.61* 0.28 1.2
oLyt EAt AR E Y A o fie 3433,353.04 ¥ 4416,775.04 4 4416,578.0+ -
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i (ICD-10~ ) Afc - X i il % i (ICD-10%~ #f) A dic 7= = K e % | (ICD-10~ xf) Aflc - X = K L %

54 ek %) 235 18855  111.14 0.90 .00.0 4 R %] 159  257.46  160.24 0.96 .00.0 4 R 5] 76 120.87 68.64 0.80  .00.0

L F 192 154.05 90.63 089 817 1 g 134 21698  134.07 093 843 L 7 B 71 11292 64.73 0.94 934
il P AN R 45 36.11 20.40 084 191 |1|5#-tiHfnm 27 43.72 25.86 076 170 |1li¥ - 2§ B4 18 28.63 16.05 100 237
2 [sqerep 5 4 35 28.08 15.62 085 149 |2[|#fermp s 25 40.48 24.45 086 157 |2|ewsrswm 17 27.04 17.78 139 224
<) ERTF 17 27.04 17.78 1.39 72 | 3| en 24 38.86 25.08 108 151 | 3|gerEn s g 10 15.90 7.67 087 132
4|z 25 20.06 12.34 103 106 |42 infara 13 21.05 14.62 0.77 82 |4aley - zigtrrm 9 14.31 8.52 061 11.8
5 [ ARG ) 12 19.43 10.67 1.35 51 |5|sin 12 19.43 12.78 1.07 75 |sls % 4 6.36 3.26 0.89 5.3
6|z 55 amm 22 17.65 11.33 0.69 9.4 | 6| sspamEsiom 12 19.43 10.67 1.35 75 | 6]s=m 4 6.36 3.04 2.36 5.3
HEET 12 9.63 6.16 1.01 51 |7|awmas<non 7 11.33 6.86 1.31 44 |75 m 3 4.77 3.21 0.80 3.9
8 | 8 6.42 3.80 0.71 34 | 8|wwn 6 9.72 6.19 1.03 38 |8ls s um 2 3.18 178 1.86 2.6
9|t & <o 8 6.42 355 096 34 |9|mfiqoneorga 4 6.48 388 262 25 |9 fg ;*" FREARESL 3.18 172 067 26
105 % 8 6.42 351 0.64 34 |10]5 # 4 6.48 3.69%- 051 25 |10]ewm 2 3.18 1.69%-  0.37 2.6

R 43 34.50 20.51 092 183 R 25 40.48 26.18 117 157 B AL R 5 7.95 3.92%-  027* 66
115 8 6.42 3.24 1.61 34 |11)smem 4 6.48 3.57 1.23 25 11 <5 2 3.18 1.63 1.10 2.6
12|+ 5 % 3 4.77 3.21 0.80 13 126 s 3 4.86 3.73 0.76 19 |12)m A bk i 1 1.59 0.94 0.83 13
13[4 i 5 4.01 2.74 0.86 21 |13} 2 3.24 2.42 0.85 13 |13|xwma s <o n 1 159 0.84*-  0.35 13
14| o © g B 4 3.21 1.81 1.52 17 |14z s 2meae | 2 3.24 1.87 3.87 13 |14)v em 1 1.59 0.50 1.01 13
15|+ 7w 2 3.18 1.78 1.86 0.9 |is|7ww 2 3.24 1.87 2.44 13
Moo L BAR kD E Y A v Bc 34124,635.5¢ 9 1261,756.5+¢ 4 262,879.0+4 -
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i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #7) A e ¥ e Fv = b %
w4 o 9] 117 21273 12560 101  .00.0 4 g 7 80  287.74 18453 111  .00.0 st Ao ] 37 136.05 7414 087  .00.0

asrm | s w000 0035 104 795 | |eemmrm | 63 20458 15667 114 850 | |-<mesm | 3L 11399 6451 o08s 838

1 |sgosep 25 4 24 4364 2675 133 205 | 1|seqespomig 20 71.93 4867 159 250 |1|i# -t utenm 7 2574 1367 088 189

2lis  tiufrm | 24 4364 297 101 205 |2|iw - rgusenm | 17 61.14 3788 110 213 |2|ew . igqourmm 7 2574 1294 100 189

3|es  smqenrn | 15 2727 1498 104 128 |3|es . imqears 8 28.77 1789 109 100 |3 |eqesen mi 4 1471 728 075 108

Y IR 3 11.03 647 057 26 |4lreizamen 5 17.98 1134 216 63 |4|+pssm 3 11.03 647 057 81

] EXp . 6 1001 631 165 51 |5|cuns 4 14.39 835%- 041 50 |5|im 3 11.03 538 139 81

6|1 6 1001 619 107 51 |6|ausm 3 10.79 768 062 38 |6]um 2 7.35 782 334 54

7| 5 9.09 732 307 43 |7]i % 3 10.79 717 088 38 |7]|~um 2 7.35 417 124 54

8| i 2 7.35 417 124 17 |8|um 3 10.79 689 291 38 |8|ews 1 3.68 243 041 27

9 |55 4 7.27 432 080 34 |olews 3 10.79 658 117 38 |9lrrizamen 1 3.68 217 079 27

10] - w2 4 7.27 4.08%  039% 34 |10[m & fosr e 2 7.19 422 987 25 |10 fg ;*" FRmARTEL 3.68 217 076 27

i herm | 24 aaes 2525 090 205 | |rescimmem | 12 4316 2786 095 150 | |#es-<mesrm | 6 2206 963 077 162

11 s G RO % 2 7.19 373 o5t 17 |u)sms 2 7.19 404 165 25 [11|m s feragon 1 3.68 201 189 27

12| 3 5.45 377 059 26 |w2|ses 2 7.19 373 142 25

13| m 2 few o 3 5.45 321 415 26 |13|@ s 2 7.19 373 051 25

14 ; ;’? FRREARAEL 3.68 217 076 0.9 [14]sss 1 3.60 5.48 1266 13

15| =1 2 3.64 200 122 17 |15]s s 1 3.60 220 058 13

Moot L BUEMALE Y A v lie 3754,999.54 ¥ 4227,803.0+4 4 4427,196.5+ -
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3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i (ICD-10%~ #f) A 5= = g % | (ICD-10%~ #f) A 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

“h e F 100 244.02 109.29 0.95 .00.0 74 e~ F 66 314.09 152.76 0.94  .00.0 14 R ) 34 170.27 67.07 0.94 000

R o | 82 200.10 90.01 095 820 - X Bt ) 58 276.02 13351 094 879 - S F 29 145.23 60.77 109 853
#2578k 15 36.60 17.44 069 150 42§58 % 10 4759 22.95 064 152 1 s ~ 2 5 fon R 8 40.06 14.82 136 235
2085 B PR 14 34.16 14.52 106 140 | 2| FfesFp g ok 9 42.83 18.74 074 136 2 | st 5 R 6 30.05 15.28 140 176
)RR LS 6 30.05 15.28 1.40 6.0 |3 um 7 3331 16.07 082 106 B F ¥~ 2 FE Rk 5 25.04 12.59 073 147
4 PFesFp g 12 29.28 11.65 072 120 |4 |=%% 7 3331 15.69 2.78* 106 | 4[| orEp e R 3 15.02 5.12 0.64 8.8
5 [ A GO 5 23.79 10.94 113 50 |5)s5#% 6 28.55 18.86 1.38 9.1 5 s 2 10.02 255 0.96 5.9

- , + MR Y fRA K s
6 |55 %% 9 21.96 9.11 1.97 90 |6 3Bl 6 28.55 14.18 0.82 9.1 6], . B ) 1 5.01 2.52 2680 29
s IR oA (Tatr ¢

T\ ek 7 17.08 7.96 0.79 7.0 | 7| AR EE SO R 5 23.79 10.94 1.13 7.6 T|m e e ok 1 5.01 252 221 29
814 ” 6 14.64 9.46 1.38 60 |8]:#% 4 19.04 5.16 117 6.1 8 |'r o 1 5.01 217 1.40 29
915 & 5 12.20 2.87% 097 50 |9|ri s imm 2 9.52 5.61 0.87 3.0 Il & HT B 1 5.01 217 0.91 29
10|t 4 & 4= 3 7.32 3.99 0.90 3.0 | 10)=a% 2 9.52 531 2.38 30 |10]2 ¢ #mfoR @ A K R 1 5.01 1.03 2.56 29

B 2bL &g F) 18 43.92 19.28 097 180 B2t X~ F 8 38.07 19.24 092 121 B2t X g~ ) 5 25.04 6.31*- 051 147
11764 3 7.32 3.17 2.27 3.0 [11)5 F W% 2 9.52 5.12 1.90 30 |11 ffod » i 1 5.01 1.03 2.39 29
12} 8 7 2 4.88 2.57 1.45 20 |12)¢ i 1 4.76 3.98 0.60 15 |12 1 5.01 1.03 2.13 2.9
k] L 2 4.88 2.54 0.93 20 |13 1 4.76 2.80 0.67 15 |13)% % 1 5.01 1.03*- 055 29
14)2. ¢ 2 3fcd & L KR 2 4.88 141 3.04 20 |14 TR 1 4.76 2.36 2.97 15
15 ek ot © "Ey 2 4.88 141 1.90 20 |15)2 ¢ micd A KR 1 4.76 1.85 4.18 15

ot lLFsivBke ¢ grE Y Aor e 3440,980.54  §4221,013.04 4~ 4£19,967.54 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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[ (ICD-10%4 #8) A #ic = & v & vt % |- (ICD-104 #8) A ik =& = K et % | (ICD-104 #f) A s & s & ) %

4 Reg F 146 20270 14191 110 .00.0 3 R 7] 107 41805  216.02%+ 1.28* .00.0 3 g 7] 39 160.59 72.67 080  .00.0

S 123 24659  119.68*+ 119 842 Sk ) 100 39070  201.30%+ 1.40* 935 LA ) 31 12765 60.48 081 795
1 [ gesep 2 30 60.14 27.65 142 205 | 1[qerep g 25 97.68 50.35%+ 172% 234 |1|e% . igieurm 8 32.94 11.16 098 205
2|5t gaorm | 23 46.11 20.02 082 158 |2]|i#-ridqma 19 74.23 35.60 103 178 |2 2 u 5 20.59 531 076 12.8
3|uy  smears | 21 42.10 17.31 125 144 | 3]s 17 66.42 38.52 162 159 |3|5# - tiionn 4 16.47 6.76% 044 103
| B 19 38.09 21.46 175% 130 4] igqeurg 13 50.79 24.00 150 121 | 4|~ 3 12.35 10.90 182 77
5 [ ARG ) 8 31.26 14.15 157 55 |5 | smcmeson 8 31.26 14.15 157 75 |s5|eprsa 3 12.35 409% 057 7.7
AEET 7 14.03 8.17 132 48 |6|asn 7 27.35 16.14 133 65 |6|i% 2 8.24 3.62 078 51
7w sm 3 12.35 10.90 182 21 | 7|wws 3 11.72 5.93 099 28 |7)vum 2 8.24 351 379 51
sleprsn 3 12.35 400% 057 21 |8lsinp 3 11.72 5.74 152 28 |8|wws 2 8.24 165*- 072 51
9 |lesen 5 10.02 3.90 086 34 |9|rwizamen 3 11.72 5.32 109 28 |olsiwm 1 412 9.48 107 26
10fs 4 8.02 7.35 136 27 |10|5 s 2 7.81 5.56 158 19 |10)sm 1 412 3.99 163 26

Bt A 7] 23 46.11 22.24 077 158 B g T 7 27.35 14.72 058 65 B ] 8 32.94 12.20 076 205
1)+ % 4 8.02 4.03 061 27 |1]sm 2 7.81 4.66 050 19 |u ;”ﬁ‘ AR el 412 3.25 2604 26
[ EREE O 4 8.02 3.13 095 27 |12|seen 2 7.81 351 116 19 [12|g s 1 412 2.65 243 26
13| 5 =1 3 6.01 4.14 181 21 |13|ews 1 391 331 262 09 |13|ei s ame 1 412 1.50 070 26
14555 5 3 6.01 2.07 107 21 |14] s 1 391 181 1015 09 14| 1 412 1.00 096 26
15 ; ;W pmARAEL 412 0655 070 0.7 |15 g e e mgn 1 391 143 126 09 15|z s gmerte A | 1 412 0.65 170 26
W et 1350 Rho HhAEE® A ¢ B 3549, 881.0 4 9 225 505 04 & 224, 286.0 4

2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
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i (ICD-10%~ #f) A B i v K Fv =l % | (ICD-10% #g) A B 7= & = F Fv =l % | (ICD-104 #f) A B v K = Fv =t %

T R > 32 191.63 98.78 0.88 .00.0 1 Rk 7 15 174.72 98.67*- 0.62 .00.0 Eh R 7 F 17 209.51 97.80 1.34  .00.0

Ry ] 30 179.65 92.01 1.04 938 L R 7 15 174.72 98.67 119  .00.0 L g 7 17 209.51 97.80 2.07* .00.0
L] 7o s 3 34.94 13.74 2.17 9.4 (N 4 46.59 30.47 1.25 26.7 1% s 23 fonr g 5 61.62 28.34 243 294
2|45 s 2B form R 5 29.94 14.69 1.10 15.6 2| % 3 34.94 23.11 1.88 20.0 205~ 2 F E ok 4 49.30 25.09 169 235
3| i A& 2 24.65 13.20 4.10 6.3 E) IERENC: =29k 3 34.94 13.74 2.17 20.0 3|5 & A 2 24.65 13.20 4.10 11.8
41 e 4 23.95 15.85 1.24 125 4 IR 1 11.65 7.13 8.62 6.7 4 555w 2 24.65 11.09 2.81 11.8
Slid 47 EfmH® 4 23.95 12.33 0.54 125 5| % 1 11.65 7.13 0.87 6.7 5 PHferFp L d 2 24.65 8.24 1.27 11.8
6lsg# 3 17.97 11.65 1.89 9.4 6|z &R 1 11.65 6.46 131 6.7 Bl ERCE SEN A 1 12.32 8.71 2.66 5.9
TP p e E R 3 17.97 6.50*-  0.53 9.4 Tegfod & ki R 1 11.65 6.04 451 6.7 7 ® 1 12.32 3.13 1.59 5.9
| AR R R 2 11.98 7.73 177 6.3 8 PferFp 2 E 1 11.65 458*  0.24 6.7
9 |=%% 2 11.98 5.56 1.27 6.3
10] % & 2 11.98 5.40 114 6.3

L Ry 2 11.98 6.77*-  0.26* 6.3 R Y ¥ 0 0.00 0.00 0.00 0.0 B R le 7 7] 0 0.00 0.00 0.00 0.0
11+ 1 5.99 3.54 8.82 3.1
12|52 f fo 8 "2 R 1 5.99 3.24 2.74 3.1
AL e maE gRE Y L ocgic 3116,699.0%4 9 448,585.0%4 4 148,114.0% -
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2. fﬂ—gﬁf‘* % ( Standardized rate) 122000 WH.O, £ % A v #d2 %4 5 A% o Tk | L7 R0 5= FBF K
3. &3 it 7= 1 ( Standard mortalltyratlo SMR) o R i = b= s e / B oo KA T g
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

“43 i 7 74 19684 12145 101 000 4 op 7 7] 49 25698 17511 105 000 44 B 7] 25 13494 7191 095 000
Tiwern [ ed 102 10405 113 s | |-emerm | 20120 16440 116 939 | |-<merm | 25 1304  7we1 121 000
lss - 25afwn | 14 3724 2223 094 189 |1lis - tsuews | 10 5244 3501 102 204 |1|rpsis 5 2699 1630 146 200
2| g 5 2699 1630 146 68 |2|-mws 6 3147 2422 094 122 |2]|uy - igqeurg 5 2699 1134 117 200
3 [sqorep g 10 2660 1659 088 135 |3|sugm 6 3147 2235 185 122 |3|wqespomag 4 2159 1445 125 160
P T 9 2394 1367 100 122 |4]i s 6 3147 1989 274 122 |4|i# - tiaiorn 4 2159 1235 081 160
54 9 2394 1289  258* 122 |5|[wqern e 6 3147 1937 074 122 |5|i# 3 1619 668 231 120
6|« 6 1596 1220 090 81 |6|ws . igqurs 4 2098 149 084 82 |6]|wrim 1 5.40 420 095 40
7|8 6 1596 1150 180 81 |7|ssmcmmnon 3 1573 911 122 61 |7|ews 1 5.40 347 068 40
] EEETE ST 9r 3 1573 911 122 41 |8|sms 2 1049 83 221 41 |8|pmm 1 5.40 156 389 40
) EFE 1 5.40 420 095 14 |9]sim 2 1049 651 180 41 9;;?‘%&*”ﬁ; 1 5.40 156 121 40
10‘;;fﬁgf“i*p”ﬁ;' 1 5.40 156 121 14 |10|5 = 1 5.24 461 122 20
Jeeherm [ 10 e 1740 060 135 | |#esiomsrm | 3 1573 07t~ o044 61 | [rescisarm | o 000 000 000 00
1255 2 5.32 394 146 27 |1|reaz<pen 1 5.24 457 066 20
12| 51 +Fvs 2 5.32 348 185 27 |12fuw 1 5.24 307 147 20
13)ss 50 2 5.32 323 064 27 |13)weww 1 5.24 307 061 20
14]5 5 5 2 5.32 301 122 27
15|zt 2 & = & 1 2.66 2.21 0.43 14

soosn o L B RE S Ao fic 3137,504.54 9 E19,067.54 -+ 1£18,527.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #g) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %

54 e 7 107 22974 12088 102 .00.0 4 g 7 75 30048 17712 110 .00.0 st Ao ] 32 14339 6799 085 .00.0

g 88 18895 10014 108 822 L 66 27208 15854 117 880 T g 28 12547 6256 094 875
| R 22 47.24 2302 134 206 | 1|segespmig 18 74.20 4043 152 240 |1|i# i atenm 7 31.37 1665 100 219
2lististenan | 18 38.65 1981 083 168 |2]-s# 11 45.35 2823 123 147 |2|u9 . zmiears 6 26.89 913 096 188
3| sem 1 23.62 1418 121 103 |3|is tgagens | 1 45.35 2450 075 147 |3 [sgesen i 4 17.92 754 083 125
alany  iygoerg | 1 23.62 1079 083 103 |4|agw 7 28.86 1684 155 93 |a|eprun 3 13.44 977 067 94
5|4 % 7 15.03 890 156 65 |5lews 5 20.61 1292 205 67 |s5|im 2 8.96 510 104 63
6 | 7 15.03 851 154 65 |6]|wem-.igours 5 20.61 1206 071 67 |6|ews 2 8.96 388 094 63
7| s 3 13.44 977 o067 28 |7|i % 3 12.37 637 092 40 |7|vmwm 1 4.48 346 1321 31
8ls % 5 10.74 562 097 47 |8lus 2 8.24 605 218 27 |s8lsmm 1 4.48 304 135 31
C] EX TEERT e 3 6.44 335 289 28 |9|teizimem 2 8.24 568 091 27 |9 fg ;f” HEARESL 4.48 256 087 31

FEFEREAP TS i ,
107 & 1 4.48 256 087 09 [10|agqen i 2 8.24 546 327 27 |woleim 1 4.48 144 072 31

Hussgarm |19 40.80 2074 080 178 B A 9 37.10 1858 077 120 M2 s ) 4 17.92 543 052 125
114 5 % 1 4.48 144 072 09 |11|aesines 2 8.24 478 13350 27 |11fggen v mg s 1 4.48 093 235 31
12]s5% 2 429 298 143 19 |12|s suspcmmepn 1 412 259%- 026 13 |12]s s 1 4.48 093 138 31
13|22 &= A 2 429 280 061 19 |13 j’;\?i} ;~$ PARGRE L 412 159 639 13
14] 2 ws 2 429 252 932* 19 |14|mum 1 412 159 074 13
15|53 5 2 429 211 096 19
WGt 14 BARERE ? A v Bt 3°46,573.5 % 9 224, 258. 0% 1222, 315.5 4 -

2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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[ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

R 82 21042 12483 102 .00.0 w4 g 5] 53 26388 16554 101  .00.0 “id g 5] 20 15356 9085 102 .00.0

S ] 68 17449 10311 116 829 S ] 49 24396 15339 124 925 S ] 26 137.68 8501 129 897
1|y smqnrg | 16 4106 2634 161 195 |1|- e 13 64.72 3871 181 245 |1]|aw.zigears 9 4766 3225 193 310
A 13 3336 1953 178 159 | 2|sqerp g g 11 54.77 3454 121 208 |2)|eeiaemen 4 2118 995 477 138
3 |sqerp g 13 3336 1924 104 159 |3|i# - tigsrm 8 30.83 2705 072 151 |3|epsrum 2 1059 799 055 69
alis - t5agnm | 10 2566 1577 061 122 |4|wy . igqonrs 7 34.85 2213 132 132 |4l|mgeene g 2 1059 745 622 69
5ot & <o 5 12.83 697 200 61 |5|ism 3 14.94 780 242 57 |5|wqesen man 2 1059 724 057 69
6| pssm 2 1059 799 055 24 |elsem 2 9.96 648 221 38 |6|i%-tidfrm 2 1059 499% 038 69
7| 5% 2 1059 462 179 24 |7)|ssspcmmsom 2 9.96 518 072 38 |7]|rim 2 1059 462 179 69
] EREIE ST o 2 9.96 518 072 24 |8lgwevarmpen| 1 4.98 405 1089 19 |8|ienops 1 5.30 474 1751 34
ols wp 3 7.70 342 168 37 |9 i}:ﬁ ?‘*% FRGEER 498 372 873 19 |9|mafpiesm 1 5.30 440 288 34
10|52 § 4o © g 2 5.13 361 250 24 |10|ses s s 1 498 372 060 19 |10|ess 1 5.30 139 232 34

gussagarm | 14 3503 2172 065 17.1 B AL 4 1992 1215%  031* 75 HAd s 3 15.89 583* 036 103
115 2 5.13 337 1711 24 |ulsus 1 498 371~ 028 19 |u1)s 1 5.30 139 071 34
12| 2 5.13 244 058 24 |12|wums 1 498 202 054 19 |12|mues 1 5.30 139% 063 34
135 % 2 5.13 181~ 052 24 |13|s s 1 498 258 040 19
147 AR RGER | 4.98 372 873 12

);;]1\% 2} )
15] 2 i a;]w% 1 2.57 2.34 5.87 1.2

ot LLF5 B A ksRE Y A or e 3438,970.04 ¥ 1220,085.04 4~ 4£18,885.0+ -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #g) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %

54 ek %) 102 224.67 131.97 1.06  .00.0 4 R %] 61  261.80 170.52 0.98 .00.0 4 R 41 18554 95.10 121 .00.0

B 79 174.01 98.29 108 775 LA e T 57 24464 160.58 112 934 L X g F 32 14481 74.36 121 780
il P AN R 21 46.26 25.98 107 206 |1ls# -~ tgaqenm 15 64.38 39.07 113 246 |1l5# - t5uenm 6 27.15 13.70 094 146
2 [rgerp i 18 39.65 22.09 120 176 |2 |ferep s g 13 55.79 34.01 119 213 | 2|gerEn g g 5 22.63 11.40 122 122
3|ag 2 gy 12 26.43 13.89 102 118 |3|es  imqorrm 8 3433 2217 126 131 [3|epsriwm 4 18.10 11.66 0.90 9.8
4|+ s 4 18.10 11.66 0.90 39 |4]rmn 6 25.75 16.16 0.70 98 |4ales - zsnrm 4 18.10 5.81*  0.74 9.8
501 % 6 13.22 8.42 1.32 59 |5|sgn 6 25.75 15.04 1.39 98 |s5]: % 3 13.58 6.78 1.86 7.3
6| 6 13.22 8.07 0.67 59 |6]:% 3 12.88 9.50 1.02 49 |6[|afirs e ragg 2 9.05 5.68 5.12 49
HAEET 6 13.22 7.19 1.36 59 | 7|sw 2 8.58 13.32 2.28 33 | 7|5 v um 2 9.05 5.13 5.16 4.9
8l raum 2 9.05 5.13 5.16 20 | 8| sspcamsion 2 8.58 457 0.61 33 85w 2 9.05 5.09 3.11 4.9
9 ; ;‘}V Gl I 9.05 4.94 185 20 |olism 1 429 352 601 16 |9 fg ;f i B 9.05 4.94 185 49
10| 71 e (ot O e 2 8.58 457 0.61 20 |10|em 1 429 3.20 3.18 1.6 |10]55m 2 9.05 417 1.05 4.9

2L A g 5 ) 23 50.66 33.68 101 225 A A R ) 4 17.17 9.94*- 035* 66 R R 9 40.73 20.75 120 220
15 i 3 6.61 3.91 1.42 29 |11]s i 1 4.29 2.80 0.67 1.6 |11]ssmm 2 9.05 3.15 3.32 49
12| 532 3 6.61 2.68 1.67 2.9 12|55 1 429 211 0.83 1.6 |12]¢ 5 % 1 453 413 0.75 24
13| % 5 1 453 413 0.75 1.0 13| % % 1 453 2.33 1429 24
14|55 2 4.41 7.05 1.49 2.0 14 # == 1 453 2.33 2.80 24
15| | % % 2 4.41 3.06 8.69 2.0 15]59 s 1 453 2.31 2633 24
soosn o LR E S A v 3145,399. 04 7 1223,300.54 -~ 1£22,008.54 -
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

54 e 7 57 24478 12619 093 .00.0 4 g 7 39 31832 17581 095 .00.0 st Ao ] 18 163.15 7483 084  .00.0
| asrn | st 202 uess 111 895 | |eemmrm | 37 30199 1709 106 949 | |emerm | 18 16315 7483 119 000
s t5umn | 16 6871 3369 125 281 |1lis - igusens | 12 97.94 5267 133 308 |1|i# - tiuferm 4 3625 1557 099 222
2 [sgeren 2 8 3436 1665 083 140 |2|-ww 6 4897 2575 117 154 |2 [seqesen m i 3 2719 1416 105 167
3|c e 7 3006 1609 138 123 | 3|sqesp ez 5 4081 1928 071 128 |3|uw . zmiears 3 2719 993 083 167
4w -2 g qonr g 6 2577 1179 077 105 |4|agwm 4 3265 1974 155 103 |4 |wss 2 1813 805 163 111
5|4 % 4 1718 1067 160 70 |5|es . igiars 3 24.49 1348 071 77 |5|cuw 1 9.06 488 443 56
6|1 3 1288 721 098 53 |6|ww 2 16.32 1832 406 51 |6|zgien g 1 9.06 485 404 56
7 |5 3 1288 632 112 53 |7]i# 2 16.32 939 102 51 |7]|eis 1 9.06 485 134 56
8| im 1 9.06 485 134 18 |8|mgiqeneozpm 1 8.16 485 266 26 |8|smm 1 9.06 439 225 56
9 ;;ﬁﬁgf“i*p“*; 1 9.06 3.77 155 18 | o|wws 1 8.16 447 068 26 |9lim 1 9.06 439 088 56
10} =i 2 8.59 961 267 35 |10|# scmes R 1 8.16 301 040 26 |10 fg ;*" FRmARTEL 9.06 377 155 56
i herm | 6 2577 oes- o0de 105 | |rescimmem | 2 1632 485~ 033 51 | |#es-<germ | 0 o000 000 000 00
1|2 g 4ot o2 2 8.59 469 326 35 |11]iesns 1 8.16 242 1103 26
12| s o) 1 8.16 301 040 18 |12]s i 1 8.16 242 104 26
18]35 5 5 1 4.29 206 079 18
14] 2 ws 1 4.29 091 801 18
18] s 5 1 4.29 091* 074 18

soosn o LR ARE S A vfic 3123,285.54 9 112,252.54 % 11,033.04 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

R 67 17730 10101 083 .00.0 w4 g 5] 41 21134 12616* 080 .00.0 “id g 5] 26 14138 8577 090 .00.0

L 58 153.48 8812 091 86,6 L] 37 19072 11544 091 902 S ] 25  135.94 8381 107 962
i tissmn | 18 4763 2571 110 269 |1|i# - rgagenn | 12 61.86 3785 111 293 |1|i# -t iaqerm 6 3263 1646 111 231
2 e p e 10 2646 1434 080 149 | 2|wqerp g g 7 36.08 2136 078 171 |2 |ews 3 16.31 899 183 115
3lan s yoemg 7 1852 1017 070 104 |3|- e 5 25.77 1437 o071 122 |3)|ew . igeenrs 3 16.31 879 063 115
7 e 5 1323 744 068 75 |alem-impnrs 4 20.62 1248 077 98 | 4|wgesp ny g 3 16.31 807 084 115
5| s 2 10.88 798 054 30 |s5]|iw 2 10.31 703 083 49 |5lum 2 10.88 148 517 77
6|5 % 4 1058 577 104 60 |6]pmm 2 1031 639 206 49 |6|eprig 2 10.88 798 054 7.7
7 e 4 1058 558 116 6.0 |7 |ssispcmeon 2 1031 595 075 49 |7|reizamen 2 10.88 659 233 7.7
] EREIE ST o 2 10.31 595 075 30 8%&i?$ﬁw%i 1 515 417 865 24 |sliwm 2 10.88 502 139 77
9|-sm 3 7.94 825 271 45 |9ol|um 1 515 208 140 24 |o|wim 1 5.44 399 089 38
10| 2 £ <o 3 7.94 467 120 45 |10|essanewn 1 5.15 286 061 24 |10]s s 1 5.44 307 180 38

At 9 23.82 1289% 053 134 B AL 4 2062 1072 038* 98 HAd s 1 5.44 195% 018* 3.8
11 5 1 5.44 399 089 15 |1|smm 1 5.15 258 112 24 |1fedemepn 1 5.44 195 282 38
12]55 5 5 2 5.29 320 132 30 |12]sim 1 5.15 258 083 24
135 5 2 5.29 235 113 30 |13)ews 1 5.15 258 055 2.4
1a|? BLAZTRGEE 5.15 417 865 15

);;]1\% 2} )
15|/ 4 e g 1 2,65 118 200 15

soosr o Lt mi A amE S Ao i 3137,790.54 9 1219,400.54 -~ 1£18,390.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




K24 2 E/ K R - »
5 0 B oy B X R og > = R 7
% R109# (2020 )
& [ 3 e - e
g R 7= S ) R i B L B E e St ¥ R 2 = B R = Ly Lk s =
;= R O7 AT E/V\LL = R O¥ e ‘FT/,,\;L F o= R 9% LA 'p’/v\”
[l (ICD-10%" #) A Hc =& o= & Fe= b % [l (ICD-10% #f) (¥ =X B Fe= L % e (ICD-10% #f) A #c o= & =& Fe = %
“h e F 93 290.16 132.65 112  .00.0 3 R 7 61 362.06 189.31 1.12  .00.0 T R F) 32 210.47 75.77 1.08  .00.0
LA e F) 85 265.20 121.01 1.30* 914 LA g F) 58 344.25 182.42 1.26 95.1 LA B ) 31 203.89 74.76 1.45 96.9
e 25787 % 19 59.28 28.28 1.10 20.4 i P AN 15 89.03 4581 1.24 24.6 1|5 « 2 5o g 11 72.35 19.38 220* 34.4
201%% - B3R 19 59.28 19.65 1.79* 204 2 | esFp e 14 83.10 44.42 1.48 23.0 2|~ B s R 4 26.31 18.05 1.23 125
Kl B - 18 56.16 27.47 1.37 19.4 3|y - 2ok 8 47.48 20.09 1.41 13.1 3lig A FE R 4 26.31 10.37 0.73 125
N R L 4 26.31 18.05 1.23 4.3 4wk 6 35.61 19.63 0.88 9.8 4 Prfosep v 8 R 4 26.31 9.83 1.01 125
5] % 8 24.96 10.45 1.94 8.6 515 &% 6 35.61 16.89 231 9.8 5 s 2 13.15 4.66 3.19 6.3
6| 6 18.72 10.26 0.89 6.5 6 (e O A 3 17.81 8.63 0.88 49 6% &% 2 13.15 4.66 1.27 6.3
7% P (e O e 3 17.81 8.63 0.88 3.2 U EER 2 11.87 8.22 1.56 3.3 T 2Rl A T % 1 6.58 4.03 46.00 3.1
814 i 3 9.36 4.82 1.64 3.2 8|aw 2 11.87 7.52 0.59 3.3 8 | T wm 1 6.58 1.75 2.20 3.1
9 | 3 9.36 3.87 1.73 3.2 9 |*s% 1 5.94 5.89 1.47 1.6 9 |*s% 1 6.58 1.02 2.64 3.1
10] & s % 2 6.24 4.14 0.60 2.2 |10} # F1& 1 5.94 531 1.21 1.6 |10l s 1 6.58 1.02 1.75 3.1
Hig 2bL X g & F) 8 24.96 11.63*- 0.46* 8.6 H @ 2bL X gt F] 3 17.81 6.89*- 0.36 49 How 2t X g 7 F] 1 6.58 1.02*- 0.12* 3.1
1) 7% 2 6.24 3.88 1.94 22 113 1 5.94 291 0.89 1.6
12 f sF v 1 3.12 2.79 0.96 1.1 12)%% 5% 7% 1 5.94 2.00 0.51 1.6
WYfve- ¥ 2icald § % 1 3.12 1.75 10.28 1.1 13|t A & H = B 1 5.94 1.98 0.56 1.6
14|\ &% % 1 3.12 0.93 141 1.1
15] % %% 1 3.12 0.93*- 0.28 11
o LF i RR RARE Y L vde $432,051.0% §4216,847.54 4 215,203.5% -
2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4. FAL IR ¢ A AT S FIAAL PRI A B R A T




$ ot R e M kg & 3 R T

3 F109& (2020 )
£ i 7 <2 + B2
o — 7= A-§  REC BE 50 |% W w 7= AS§  WEC RE 50 % * R < 5§ WEC RE -
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

54 e 7 80 23127 13144 105 .00.0 4 g 7 52 20260 17410 105 .00.0 st Ao ] 28 166.47 9189 104 .00.0
| asrm | s+ 1ssor 10470 100 800 | |-immrm | w© 2000 16148 116 923 | |-<merm | 25 14863 404 120 893
5% t5s4mn | 15 4336 2239 096 188 |1li# - tgusenm | 10 56.27 3116 095 192 |1|i# - tiaferm 5 2973 1646 099 179
2|5 e gqeers | 11 3180 1853 117 138 |2|#s . imiears 8 4501 2756 158 154 |2|cprsm 4 2378 1523 118 143
3 [sforen o2 9 2602 1333 076 113 |3|- s 7 39.39 2637 105 135 |3]|wss 3 1784 1209 287 107
) BT 4 2378 1523 118 50 |4|sgespzig 6 33.76 1873 070 115 |4|vws 3 1784 979 738 107
5| v 7 2024 1394 102 88 |5|auwm 5 28.13 1677 149 96 |5|un . zmiears 3 1784 866 068 107
6| 5% 3 1784 1209 287 38 |6|rtwiszamen 3 16.88 1199 186 58 |6 [sgosn i 3 1784 797 090 107
HErT 5 14.45 838 147 63 |7|laEm 3 16.88 1053 357 58 7;;?‘%&*”ﬁ; 1 5.95 358 119 36
8 |4 = 4 1156 660 364 50 |8lews 3 16.88 886 171 58 |8|wus 1 5.95 358 065 36
9 |55 4 1156 575 122 50 |9|smsmcmmion 2 11.25 53 075 38 |9|iiwm 1 5.95 345 191 36
10 »15p o) 2 11.25 534 075 25 10| 1 5.63 415 413 19 |10|5 s 1 5.95 323 372 36
i herm | 16 4s25 2673 091 200 | |rescimmem | 4 2251 1260~ 050 77 | |#ea-<merm | 3 1784 785 ods 107
1|aeszanem 3 8.67 596 126 38 |11]s % 1 5.63 333 043 19 |11fagqen mg s 1 5.95 323 317 36
12| v 3 8.67 495 460 38 12| im 1 5.63 327 085 19 |12]s % 1 5.95 140 074 36
13;;5”’”’:”74 1 5.95 358 119 13 [13]=s 1 5.63 3.01 104 19
14]5 5 5 2 5.78 332 118 25
15| % 2 5.78 259 054 25

MGl g5 B mE Y A v Bic 3434,592.54  § B17,772.54 4 1216,820.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




B2 2 3, N R . v
ot B X ¥ Mmook o A 2 R
% 109 (2020 )
2 3 7 B D B
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 113 30079  149.29 1.34* .00.0 4 g 7 66 34998  191.83 121  .00.0 st Ao ] 47 26677 11015 1.58% .00.0

g 97 26593  129.05%+ 149* 858 L 61 32347 17846  131* 924 T g 45 25542  106.97*+ 1.88* 957
is-tissmn | 23 63.06 28.32 133 204 |1fis - rqgugemn | 13 68.94 3469 110 197 |1lss - tgagers | 10 56.76 2264 177 213
2 [seqermp 5 5 18 49.35 23.08 136 159 |2 |swqesep ig 10 53.03 3102 105 152 | 2|segesen mna 8 45.41 1482 212 170
3lan  syoemg | 16 43.86 20.27 154 142 |3)es . imqeemn 9 47.73 2534 161 136 |3|uw . zmiears 7 39.73 16.91 145 149
4lepss g 6 34,06 19.95 165 53 |4|-ses 7 37.12 2250 097 106 |4|cpsim 6 34.06 19.95 165 128
5 [ i e i) 5 26.51 14.05 163 44 |5|ses 5 26.51 1528 463 7.6 |5 |ews 3 17.03 884 177 64

N SREENEAP AT

6|0 sem 7 19.19 1161 094 62 |6|srsmcmEn 5 26.51 1405 163 76 [6f % 3 17.03 741 325 64
7 e 7 19.19 9.93 193 62 |7|sun 4 21.21 1268 110 61 |7|im 3 17.03 595 202 64
8| 7 19.19 942+ 426 62 |8|www 4 21.21 1137 206 61 |8|rris<men 2 1135 482 224 43
9 ;;W FEAREIL g 17.03 7.41 325 27 |9l|pEm 2 10.61 5.99 223 30 |9|snm 2 11.35 3.76 350 43
10 5 i % 5 1371 6.60 136 44 |10|sw s s apeo 2 10.61 554 114 30 |iwolews 1 5.68 188 218 21

Aussgarm | 16 43.86 2024 084 142 B A 5 26.51 1337 062 76 A T 2 11.35 318* 034 43
1o 2 e 4 10.97 531 152 35 |uafsap 2 10.61 511 155 30 |11fs s 1 5.68 1.88 176 2.1
1 % 4 10.97 48 099 35 |12s % 1 5.30 277 039 15 |12|sym 1 5.68 130 1173 21
13]s i 5 3 8.22 3.30 162 27
14| 5 = 2 5.48 3.08 171 18
15| 75 1 2.74 1.05 138 09

sooanc Lt mioAsERE S Ao fic 3136,475.54 9 1218,858.04 % 17,617.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




X/ 1 B 2 . . o
3 0t B A FOM R R RO
3 F109& (2020 )
& (e 3 [ - A
g R = et 1 1 1% F= R & R 5= ALy R 2 7= e B 7= FLy 1R 1% 7=
= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”

[ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % | (ICD-104 #f) A = & Fe= % =k %

54 e 7 93 21880 11709 095 .00.0 4 g 7 49 22445  12587*- 076 .00.0 st Ao ] 44 21283 11075 127  .000

L4 ] 80 18822 10148 104  86.0 L g 45 20613 11618 080 918 S e ] 40 19348  10355%+ 147* 909
Wis - tisfmn | 22 51.76 2641 109 237 |ilisrgaens | 1 50.39 2649 079 224 |1|ss - rgagers | 1 53.21 2756 169 250
2| s s 10 4837 3098  236% 108 |2|-ww 10 4581 2677 118 204 |2|cpssm 10 48.37 3098  2.36% 227
3 [seqormp 5 4 12 28.23 1453 078 129 |3 |sqespzig 6 27.48 1517%- 054 122 |3|e5 .z gqoarg 8 38.70 2093 142 182
4wy smers | 1 25.88 1453 090 118 |4a|agw 5 22.90 1292 118 102 | 4[|sgesep m i 6 29.02 1336 137 136
5|0 sem 10 23,53 1342 115 108 5[5 4 18.32 1145 264 82 |5|wuw 1 4.84 288 051 23
6|4 5 11.76 654 117 54 |6lew . imoers 3 13.74 832 046 61 |6|maiommyn 1 4.84 258 235 23
7|5 wp 4 9.41 548 18 43 |7[vw 2 9.16 425 066 41 |7 ;;‘U mEAEESL 4.84 258 093 23
8 |4 1o (A 2 9.16 386 055 22 |8lesspcEmim 2 9.16 38 055 41 |s|esm 1 4.84 154 077 23
os 3 7.06 265 063 32 |olews 1 458 3900 043 20 |9o]iw 1 4.84 113* 058 23
10 ; ;‘}V L B 4.84 258 093 11 |10|5 s 1 458 304 096 20

Hussigprm | 13 30.59 1561* 060 140 B A 4 18.32 9.70%- 048 82 A T 4 19.35 7205 054 91
114 5 % 1 484 156 077 11 ut|geevopmpea| 1 458 241 979 20
12|50 2 471 341 047 22 |2lses 1 458 241 078 20
13| 5 =1 1 2.35 149 073 11 |13|eazan 1 458 184 1436 20
g o npengrn| 1 2.35 124 740 11
15|/ o fotr m 1 2.35 124 166 11
W Gt 14 BRERE ? A v B 3742, 50454 9 221, 83104 - 20,673.5~ -

2. #%# i 7= 5 ( Standardized rate) %2 2000 F W.HO. & % 4 v #dr @4 5 A% o Tk | LR B » = FAREFEHMEEEL > 55 Tk A7 RE L~ = FRFF 0 BHRE L = 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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o Mo ok MmOk oR & < R T
% 109 (2020 )
£ o 7 B = B
5 w & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 42 28490 11329 089  .00.0 4 g 7 25 32138 13199 080 .00.0 st Ao ] 17 24411 9803 102 000

g 33 22385 9216 121 786 L 24 30852 12615 110 96.0 T g 14 20103 7886 153 824
Wis - tisfmn | 12 81.40 3423 120 286 |1|i# - tiufrm 9 11570 4737 128 360 |1|i# -t utenm 3 43.08 2219 095 176
2 e p e 5 33.92 1617 066 119 |2|- = 5 64.28 2618 135 200 | 2[|gesen mi 2 28.72 1470 086 118
3| sem 5 33.92 13.45 136 119 |3 [sqermp 3 38.57 1778 056 120 |3 ;;*"" R 28.72 1413 416 118
4 ;;“ﬁ?‘ Sl I 28.72 1413 416 48 |4|ww 2 25.71 11.69 581 80 |4|vww 2 28.72 10.36 758 118
5 e pssa 2 28.72 716 118 48 |5|ma b 1 12.86 58 1464 40 |s5|lepsrus 2 28.72 716 118 118
6 | i 1 14.36 58 186 24 |6|ews 1 12.86 560 088 40 |e6|-im 1 14.36 58 186 59
e 2 13,57 504 378 48 |7]eww 1 12.86 560 054 40 |7|eszamen 1 14.36 263 205 59
8 | rusm 2 13,57 522 494 48 |8les 1 12.86 305 689 40 |8|riampneam| 1 14.36 186 48 59
9 | A1 G OB 1 12.86 305 049 24 |9lssspcmmson 1 12.86 305 049 40
10|/ 2 ot e 1 6.78 297 360 24

R A s 9 61.05 21.14%  046* 214 AL g T 1 12.86 584 011* 40 A T 3 43.08 1917 040 176
1] s 1 6.78 286 056 24
12| 1 6.78 286 048 24
13| 2 & e 1 6.78 151 068 24
1455 1 6.78 115 733 24
15|25 amene il 1 6.78 115 313 24

o L350 Rhc kSREP AT B 3514,742.54 97, 779.04 %26 963.54 o
2. 3 i 5v = ( Standardized rate) % 1120002 W.HO. # % 4 © 2 de 4 5 A0 o T 2 R0 5= FREF MO CRBEL = 55 Ty 2388052 FEFF N REE 5 5 (a=0.05)
3. #- 2 it 5= v ( Standard mortality ratio, SMR) = 3 it 5o = W= %= i / W 7= Poo KL FH 2 F 5 HF A F (0=0.05) °
A FH KR AR FLAT A R SIS B S R AT A




K24 2 E/ K R - v
AR S I I S
2 109+ (2020 )
& i 7 e - e
g R 7= Ly R F R B A 7 A1y HEn atls S K R o Ly R ¥ El
» = RO A R » = RO gHAD FIR > = R 7] S AT FRAR

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A dic 7= = K e % | (ICD-10~ xf) Aflc - X = K L %

1 R F 59 219.80 105.28 0.89 .00.0 HEF R 7 F 40 288.66 153.63 093 .00.0 4 R 7 %] 19 146.32 56.74 0.81 .00.0

LA e F) 48 178.82 84.14 1.04 81.4 L R 38 274.23 146.15 1.04 95.0 L X g F] 15 115.52 45.94 1.03 78.9
is-tisfmn | 11 4098 1587 080 186 |1|i# x5 dera 9 64.95 3006 095 225 | 1[egesepmia 3 2310 866 097 158
p] RS, 9 3353 1714 087 153 |2|sqep ez 6 4330 2455 080 150 |2 ;;*"" mEARAEL 5 1540 789 283 105
3|45 - 2B i n 7 26.08 11.70 0.83 119 3% - Lo R 6 43.30 21.86 134 15.0 3 PLE R 2 15.40 5.00 1.50 10.5
4 1% % 7 26.08 9.99 243 119 4 ek 5 36.08 15.92 3.20* 125 Al E A7 m 2 15.40 3.48*-  0.46 10.5

FREA AP A 3 a4
5 o 2 15.40 7.89 2.83 34 513 % 3 21.65 12.36 1.46 7.5 51a % 1 7.70 4.75 13.60 5.3
6% % 4 14.90 7.75 1.46 6.8 6% % 3 21.65 11.29 1.08 7.5 6|2 ¢ el & A KB 1 7.70 4.72 3.51 5.3
715 % 4 14.90 7.34 1.23 6.8 714 F1% 2 14.43 11.99 2.96 5.0 e XL 1 7.70 4.38 435 5.3
8|+ 7w 1 7.70 4.38 4.35 1.7 8| g 2 14.43 8.17*-  0.36 5.0 8|+ i 5 % 1 7.70 4.38 0.37 5.3
Ch EREE TS 1 7.70 4.38 0.37 17 Iltim A & ke g 1 7.22 5.93 0.71 25 S B 1 7.70 1.34 2.19 5.3
100 # *Fpie 2 7.45 6.31 2.30 34 101+ s 1 7.22 4.02 0.98 25 1003 #% 1 7.70 1.34 0.81 5.3

Hoi bl L o R 11 40.98 21.14*%-  0.55* 18.6 H o bt X R 5t F] 2 14.43 7.48*-  0.30 5.0 How 2t X g 7 F] 4 30.80 10.80*- 0.44 211
11) v 2% 2 7.45 413* 0.36 34 115 7RO e 1 7.22 3.74 0.39 2.5 1145 ~ & B foiz P 5% 1 7.70 1.34*-  0.25 5.3
1215 s s 2 7.45 297 1.37 34
13| 75 (L) e 1 7.22 3.74 0.39 17
14)2Lm £ & M= B 1 3.73 3.13 0.48 1.7
15|24 2 3dcd © 4 K % 1 3.73 2.28 2.35 1.7
G L L3, rFhw ERE S LU 326,842.01 91213, 857,04 %1412, 985 04 -

2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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$ R oH F oM R g < R T

% 109 (2020 )
2 > 7 B = B
W & = 7= 5§ mEC BF - |9 & = RS T T I I 7= Ai§  BEC BE o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 74 24477 11401 096  .00.0 4 g 7 49 31432 15812 099  .00.0 st Ao ] 25 17072 7349 090 000

g 61 20177 9557 103 824 L 45 28867 14555 107 918 T g 23 157.06 67.67 128 920
i tissmn | 20 66.15 2853 124 270 |1lis o rgugenm | 15 96.22 4508 138 306 | 1|wgesen i 7 47.80 1365 188 280
2 e p e 18 50.54 2620 148 243 | 2|seqespomig 11 70.56 3745 128 224 |2|i% -t atenm 5 34.14 1456 095 200
3o pssn 4 27.31 1723 132 54 |3|agwm 4 25.66 1380 128 82 |3|+psim 4 27.31 1723 132 160
4l s m 2 13.66 514 207 27 |4lews 4 25.66 1222 064 82 |4|wvn 2 13.66 514 207 80
s|v & 4 13.23 7.53 105 54 |s|ia 3 19.24 10.70 126 61 |5 ;;*"" ARy 6.83 469 121 40
6|4 4 13.23 723 130 54 |6|ew . imoers 2 12.83 882 039 41 |eli#m 1 6.83 394 068 40
7| em 4 13.23 566 063 54 |7|ssscmmion 2 12.83 579 068 41 |7|reizamen 1 6.83 332 124 40
] EREIE ST o 2 12.83 579 068 27 |8lsms 2 12.83 534 196 41 |8|wus 1 6.83 332 063 40

FYFANEAP A e =
] 4 1 6.83 469 121 14 |9|mgien o 1 6.41 317 218 20 |9l|ziampene il 1 6.83 182 298 40
10|25 « 2 5 fonr g 2 6.62 462+ 021 27 |10]s g 1 6.41 317 085 20

Aussigare | 13 43.00 1844 074 176 B A 4 25.66 1258 053 82 A T 2 13.66 582 020 80
(5] ERE e 2 6.62 318 083 27 |u)reszamen 1 6.41 317 061 20
1253 2 6.62 225 125 27 |12 ;f"f VARG 6.41 262 1755 20
13|55 1 331 167% 030 14
14]s2 g fot 2 1 331 151 128 14
154 i g 1 331 151 058 14

L msegsamie s 4 ogic :£30,233.04 9 215,580.04 -~ 1414,644.04 -

2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -

4. FR IR A AR FIA R PSR E BB R A T A




g2 2 B R~ D K R L 2
§or BT R Mmoo & < R T
% ®109# (2020&)
2 > 7 B = B
g, R = et 1 1 i3 r= e & R 5= ALy 12 i i 7= e B 7= FLy A 1% 7=
= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”

[ (ICD-10%4 #8) A #ic = & v & vt % |- (ICD-104 #8) A ik =& = K et % | (ICD-104 #f) A s & s & oL %

“t4 Rk 7 131 398.15  16240%+ 131* .00.0 43 e 7 86 49494  22021%+ 132* .00.0 3 B 7 45 28984  100.23 126 000

T ) 111 337.37  13867*+ 142* 847 T 76 437.38  200.04%+  1.40* 88.4 S 43 27695 98.19 158* 956
s t5amsn | 30 91.18 32.69 142 29 |1lis-tisewn | 22 12086 49.25 144 244 |1]|zm - iggenps | 11 70.85 23.24 180 244
2 |rqesep 2y 20 60.79 23.18 125 153 |2|cww 15 86.33 50.08%+ 194* 174 |2|5i% 25 aorm 9 57.97 16.78 134 200
3| sem 15 4559 27.01%  196% 115 |3 [ mig 12 69.06 30.63 106 140 |3 |sqesep i 8 51.53 12.94 158  17.8
4w i ggoemg | 13 39.51 13.49 100 99 |4]|sum 8 46.04 2351 205 93 |4|cprswn 4 25.76 12.07 113 89

Lo , . FEFEIVEAP TS
5 |4 1o (At O 5 28.78 9.73 115 38 |s|is 7 40.29 15.76 224 81 |5| 0 3 19.32 11.57 295 67
6l prin 4 25.76 12.07 113 31 |6 [ssmamein 5 28.78 9.73 115 58 |6z ampeneainn]| 3 19.32 234 632* 67
HErT 8 24.31 13.02 214 61 7|5 i 4 23.02 9.35 263 47 |7]|vem 2 12.88 11.17 175 44
gl » 8 24.31 8.14 158 61 |8l|es . smqoumm 2 1151 443 029 23 |8|szum 1 6.44 3.28 317 22
9 ;;‘}V FEAREIL g 19.32 1157 295 23 |9|wn 1 5.76 427 140 12 | 9|wsw 1 6.44 2.76 048 22
10)+ < 7 5 15.20 6.05 229 38 |10|%um 1 5.76 3.04 342 12 |10]s i 1 6.44 2.03 145 22

Hustcgarm | 20 60.79 23.72 091 153 B L A 10 57.55 2017 093 116 H st R 2 12.88 205%-  0.23* 44
11 5 2 12.88 11.17 175 15 |11)eggen s mg g 1 5.76 2.99 165 12 1]z & 1 6.44 127 051 22
12|25 smpen e L in| 4 12.16 2.55 568 31 12|z s gmpen e am| 1 5.76 218 425 12
13|57 i 1 6.44 3.28 317 08 13| 1 5.76 218 072 12
14 5 2 6.08 201 045 15 |14 ;f"f VARG 5.76 140 1120 12
15| 1 3.04 2.40 08 08 |15|1 %% 1 5.76 1.40 501 12
W L3t mERmE? Ar & 3290200 917,805 5% {15 526 5% -

2. {5 v 7 = & ( Standardized rate) % 22000 W.H.O, & % A v Ed 4 5 A o Tk ) L 7R 5= FRF MM SRR = &5 T ) 27 5= FAFF 5045 SR8 5= F(0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

1 R F 58 357.16 138.59 1.06  .00.0 HEF R 7 F 41 467.72 200.97 115 .00.0 S Rl 7 %] 17 227.52 63.69 0.86 .00.0

LR F) 51 314.06 122.19 1.24 87.9 LK Rt F] 37 422.09 187.87 1.35 90.2 L B T 16 214.13 60.52 1.18 94.1
1 Pprfessp 24 13 80.05 34.43 1.47 224 Ll -2 58" % 9 102.67 38.01 111 22.0 1 Pprfessp 24 6 80.30 17.32 2.08 35.3
205 8~ A5 E R 10 61.58 18.29 0.85 17.2 2 PferFp EE 7 79.85 42.46 1.13 17.1 2 | %% 3 40.15 7.78 2.62 17.6
3|k 6 36.95 20.17 1.46 10.3 3| o 6 68.45 3591 1.42 14.6 £ EES 1 13.38 20.58 2.65 5.9
41 ~ B oo 6 36.95 10.75 0.85 10.3 4%~ BB R 5 57.04 19.66 1.32 12.2 4 14 F 1 13.38 4.45 7.18 5.9
S5|mA &l B 4 24.63 9.43 2.25 6.9 S5|mA &l B 4 45.63 19.34 3.33 9.8 5|7 A fodi e H R 1 13.38 3.17 3.95 5.9

= FEIEE AP T F

6 | 5% %% 4 24.63 5.32 1.65 6.9 6 | F& 2 22.82 10.03 4.08 4.9 6 PR 1 13.38 2.17 1.85 5.9
7|8 FvE 3 18.47 7.80 5.02* 5.2 T8 % 1 1141 6.30 0.47 24 Tl&% ~ %o R 1 13.38 2.17*-  0.30 5.9

FRHEREAP TS P "
8 . 1 13.38 2.17 1.85 1.7 8|t irs » i B 1 1141 5.70 2.89 24 815 % 1 13.38 1.44 0.91 5.9
M EES 2 12.32 12.10 1.66 3.4 9|2 ¢ et & L KK 1 1141 5.23 7.44 24 Ol5 # ~ 25 4" HK 1 13.38 1.44*-  0.27 5.9
1013 & 2 12.32 2.66 0.72 34 101+ s 1 1141 5.23 121 24

R E. T 7 43.11 16.40*- 0.51 121 H o bt X R 5t F] 4 45.63 13.10*- 0.48 9.8 Ho bt X gt F) 1 13.38 3.17%  0.16* 59
1) s 3% 1 6.16 4.20 0.50 1.7 1103 % 1 11.41 3.66 0.59 2.4
124 frd s iE 1 6.16 3.74 1.77 17 12)%% 5% 7% 1 1141 2.89 0.76 24
13|24 2micd & 4 K % 1 6.16 2.40 2.59 1.7
141/ & e o oty 1 6.16 1.70 3.10 17

oosrc LR s amE S Av g 3116,239.04 9 128,766.54 A 4E7,472.54 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A
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£ i g B ~ B
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % i (ICD-104 #f) A = & Fe= % =k %

“h e F 60 403.58 157.02 1.32* .00.0 74 e~ F 34 437.24 207.19 117  .00.0 h R 7 26 366.71 94.60 1.55* .00.0

Ry T 53 356.49 140.30*+  1.50* 88.3 Sy i 34 437.24 207.19 1.44  .00.0 LA e A F) 23 324.40 78.35 1.95* 885
1P#fesp 23 % 16 107.62 40.07 2.19* 26.7 1 Pprfessph o4 12 154.32 69.62 2.39* 353 V54~ 25 %% 7 98.73 31.57 222 26.9
205 % ~ L5 E o R 14 94.17 36.66 1.44 233 205 # ~ A5 B R 7 90.02 41.13 1.07 20.6 2 |%F &% 4 56.42 10.12 7.67* 154
3|cr % 4 56.42 10.12 7.67* 6.7 K 2 4 51.44 24.52 1.13 11.8 3 s L E 4 56.42 8.98 1.68 154
4] c 4 26.91 13.77 1.14 6.7 415 % 3 38.58 2251 2.16 8.8 4 5k 2 28.21 9.54 2.06 7.7
5135 % 4 26.91 13.58 1.73 6.7 5 |56k 2 25.72 16.51 5.85 5.9 5|5 - 25 fuzri 2 28.21 5.77 0.69 7.7
6|es - 2B ior R 4 26.91 6.90*-  0.68 6.7 6l - 25 frmm 2 25.72 9.00 0.66 5.9 6|t A &= R 1 14.10 6.40 2.09 3.8
71+ P (e O e 2 25.72 7.52 1.09 33 7| PSR R O T 2 25.72 7.52 1.09 5.9 7|5 %% 1 14.10 2.75 3.79 3.8
8 |Fam 2 13.45 9.30 3.80 33 8leg® 1 12.86 1041 0.57 2.9 8| i frir i o 1 14.10 1.60 4.75 3.8
9 1% % 2 13.45 4.77 0.99 33 9 |ve% 1 12.86 5.97 7.51 2.9 913 % 1 14.10 1.60 1.07 3.8
10) & & &% 1 6.73 5.93 0.59 1.7

B 2bt X g 7 47.08 16.71 0.69 11.7 B2t X g 0 0.00 0.00 0.00 0.0 Hi | 3 42.31 16.25 0.60 115
115 1 6.73 3.18 7.71 1.7
122 2 & = B 1 6.73 3.12 0.69 1.7
13| 7 %% 1 6.73 1.59 2.55 1.7
14| A fedr o ok 1 6.73 1.12 3.69 17

oLt EsRE Y A v i $H14,867.04  F 47, 776.54 -+ 4£7,090.5% o
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt

TR S F 5 TR AR RIS R R ¢ (0=0.05)
+ ¥k (a=0.05)
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2 > 7 B = B
% P P= Et§  BEC BE 5o |7 - 7= F1§  BEC RE - W - Fe F1§  REC RE -
» = RO A R » = RO gHAD FIR » = RO S AT FRAR

i (ICD-10%~ #f) A B i v K Fv =l % | (ICD-10% #g) A B 7= & = F Fv =l % | (ICD-104 #f) A B v K = Fv =t %

54 e 7 92 31416 14519 115 000 4 g 7 57 37279 19304 110 .00.0 st Ao ] 35 25011 89.63 123 .00.0

g 80 27319  127.60*+ 125 87.0 L 54 35317 18329 124 947 T g 33 23582 87.37 145 943
is - tissmn | 25 85.37 36.32 149 272 |1lis - tisgemn | 16 10464 4974 139 281 |1|i# -t utenm 9 64.31 22.01 167 257
2 [seqermp 5 5 14 47.81 23.86 110 152 |2]|-sm 11 71.94 4117 169 193 |2|uw . zmiears 7 50.02 17.95 148 200
3| sem 1 37.56 21.65 169 120 |3 |sweqesep yg 10 65.40 3355 111 175 | 3|sgesen 4 28.58 12.72 103 114
4w -2 g qonr g 9 30.73 1185 089 98 |4|auwm 5 32.70 2067 153 88 |4|lrpsis 3 21.44 909 098 86
5 e pssa 3 21.44 909 098 33 |slieizamen 4 26.16 1575 234 70 |5 |ews 3 21.44 3.92 183 86
6|4 5 17.07 10.99 157 54 |6|s=n 2 13.08 560 185 35 |6|um 2 14.29 796 550 57
7|m 4 2 ame 5 17.07 9.88 197 54 |7)|ew - imqoers 2 13.08 522% 037 35 |7|im 2 14.29 2.79 133 57
8 |4 1o (A 2 13.08 5.01 063 22 |8[sspcEEi R 2 13.08 501 063 35 sgéﬁ‘%&*”ﬁ; 1 7.15 410 120 29
9|53 3 10.24 3.38 178 33 |ol|spEm 1 6.54 364 127 18 |9lrrizamen 1 7.15 352 118 29
10]s % 3 10.24 310 076 33 |[10]s i 1 6.54 295 082 18 |10]s & 1 7.15 331 182 29

Hustagarn | 12 40.98 1759 075 130 A A g T 3 19.62 9.76*- 036 53 A T 2 14.29 226% 035 57
115 3 10.24 245 086 33 |u1|s » 1 6.54 205 040 18 |11lsmas 1 7.15 1.13 164 29
p|F FEAEATAS 7.15 4.10 120 11

7
13| 2 6.83 372 203 22
14)5 s 5 2 6.83 3.07 113 22
15 5 =1 1 3.41 2.04 100 11

sooan o L REANARE S A v e 3120,284.54 9 1515,290.04 -~ 1413,994.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FR IR A AR FIA R PSR E BB R A T A




